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=Year 11                    =Kinematics                    =Worksheet 1
	1. From the following position-time (x-t) graph of a particle moving in a straight line, find (i) the displacement (ii) the total distance travelled in the first 10 s.
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	2. Refer to Q1. Find (i) the average velocity (ii) the average speed of the particle in the first 10 s.
    

	3. From the following position-time graph of a particle moving in a straight line, find (i) the displacement (ii) the total distance travelled in the first 20 s.
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	4. Refer to Q3. Find (i) the average velocity (ii) the average speed of the particle in the first 20 s.



	5. From the following velocity-time (v-t) graph of a particle moving in a straight line, find (i) the displacement (ii) the total distance travelled in the first 10 s.

                                         v(ms−1 )

                                                  10

                                                    5

                                                    0     2           7       10         t(s)

                                                (10


	6. Refer to Q5. Find (i) the average velocity (ii) the average speed of the particle in the first 10 s.



	7. Refer to Q5. Find (i) the average acceleration of the particle in the first 10 s (ii) the acceleration at 
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	8. Refer to Q5. The particle is at 
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m initially. Find its position when it changes its direction of motion.

	9. The velocity-time graphs of two particles A and B travelling in a straight line are shown below. Initially A is at
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 and B is at
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. Find the distance between A and B when they are at the same speed.
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	10. Refer to Q9. Express v in terms of t for (i) A (ii) B.

	11. Refer to Q9. Find the time when A and B are at the same position.

	Numerical, algebraic and worded answers.




1.  (i) (13 m  (ii) 23 m


2.  (i) (1.3 ms(1  (ii) 2.3 ms(1


3.  (i) +10 m  (ii) 70 m


4.  (i) +0.5 ms(1  (ii) 3.5 ms(1


5.  (i) +65 m  (ii) 80 m


6.  (i) +6.5 ms(1  (ii) 8.0 ms(1  


7.  (i) −1.5 ms(2  (ii) −20/3 ms(2  


8.  −7.5 m


9.  70 m


10. (i) v = −0.4t + 10, 0 ≤ t < 10


           v = 6, t ≥ 10 


     (ii) v = 0.6t − 3


11. 26.27 s
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